MA123, Chapter 3: The idea of limits (pp. 47-67, Gootman)

‘Chapter Goals: ‘ e Evaluate limits.

e Evaluate one-sided limits.

e Understand the concepts of continuity and differentiability and their relationship.

Assignment 04 Assignment 05

Earlier, the idea of limits came up naturally in the course of defining the derivative of a function at a point.
We now study limits more systematically. Computing a limit means computing what happens to the value of a

function as the variable in the expression gets closer and closer to (but does not equal) a particular value.

» | The basic definition of limit:| Let f be a function of . The expression
lim f(x) = L

means that as x gets closer and closer to ¢, through values both smaller and larger than ¢, but not equal to c,
then the values of f(z) get closer and closer to the value L.
It may sometimes happen that the limit does not exist.

2
8
‘Example 1 (a): ‘ Use the tables to help evaluate lim i )
z—=2 x4+ 2
™
)
x gets close to 2 from the left % z gets close to 2 from the right
=
V
x 1.8 1.9 1.99 1.999 ) 2.001 2.01 2.1 2.2 x
2 N 2
27+ 8 04535, 29969 29935 (2999 %... | T |D.000&...[3.0025.{3.00¢5..|3.057.| T +8
T+ 2 3 T+ 2
\J
‘Example 1 (b):‘ Suppose that, instead of calculating all the values in the above tables, you simply

2 8 =8
substitute the value z =2 into T . What do you find? X +3 = 4+% — L -3

Tt 3+ 4 4
The method of substituting in the limiting value of the variable works because the operations of
arithmetic, namely, addition, subtraction, multiplication, and division, all behave reasonably with respect to
the idea of ‘getting closer to’ as long as nothing illegal happens. The one illegality you will mainly have to

watch out for is ‘division by zero’. More precisely, if f and g are two functions one has:

lim () + 9(e)) = lim f(x) + limg() lim ((2) = g(a)) = lim /(@) ~ lim g()
lim (f(z) - g(z)) = ( lim f(x)) : ( lim g(z)) lim, ﬁEQ - ?rnri:gg))
as long as ilglc g(x) #0
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Compute lim ((x2+4x+3)~(2:ﬂ—4)).
X_p\ [(x +(‘{><1'3 (&x ‘1):| |jlh’l (X +C|x+3:l [I-W\ (ozx_q[l

[ 440043 ] - [gm_ﬂ

= [HLH}]- [:2—%]
= ¥ ()
Compute lim ©— 271 -1

{IW\ X;L_OZ)(H ) L‘[‘}I W& -2kt | _ | _&.(l)ﬁ-] _ | =2 +| - Q ~
ad X+ | f WX+ [+ =S @)
Mote

I X g 1= +1=2 40
Xl j&@/&)a

So “he limit law is valid

- . _ . B . I
Example 4:| Suppose ;nré f(x)=—2 and ;mg g(x) = 4. Determine o jf( = § Y 7f(>< 7[()4
im +1)- 2 4 2 = L 7[
I ((z D) g(x) > (x) - MV\ 7[/x)

| L z—3 ' 5 I X3
b [(x r) . 7[(><) + ?—l = ;\W\ (m_\], l(Y—V\_:ﬁ 7F(><] + X‘T: X+ 2 / jf(Xj
| 6() X3
in o b e T
G (e 2 B
St1) (-a) + 2*2 - . = S o G4,s5 S|Ca
) . 4o T o lesr e by =6l

> ‘ Some complications with the definition of limits: ‘ The previous examples seem to imply that “com-

puting a limit” is the same thing as “evaluating a function”. This is only true if the function in the limit is
“nice enough” (“nice enough” will be defined more precisely in a few pages).

The next few examples will illustrate that the computation of lim f(z) does not always reduce to the mere
substitution of the value of ¢ in place of x in the expression deﬁnixngc f(z). The ‘unusual’ functions described in
what follows are introduced to emphasize the fact that the notion of limit really involves what happens to the
values of f(z) as x gets closer to the fixed value ¢, and not what the value of f(z) at = ¢ is. In addition, the
most interesting limits generally arise precisely when substitution gives an illegal expression involving division
by 0, or even an expression of the form o The latter case occurs for example when computing the derivative

of a function.

» |How can a limit fail to exist?| There are two basic ways that a limit can fail to exist.

(a) The function attempts to approach multiple values as z — c.
Geometrically, this behavior can be seen as a jump in the graph of a function.

Algebraically, this behavior typically arises with piecewise defined funtions.

(b) The function grows without bound as = — c.
Geometrically, this behavior can be seen as a vertical asymptote in the graph of a function.

Algebraically, this behavior typically arises when the denominator of a function approaches zero.
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Example 5:

The graph of the function

3,

if x > —2;
if e < -2

2
22—
h =
@) {2:10 +7,

is shown to the right.

Lz
Analyze xlgn h(z).

For X< =2 €he funchion. o=+, The,q[me .

X—» - tha;[and on Nex) — R (-2) +1 = -g4+3 = 5 L

For x > -2 ¢he 7chc+mr\ h ) = x _3 There};(ej as R A A S

X =2 Fiom €he cight NG)—» C2)-3= ¢ 32 SIY\C& 2#| the X’ﬁ_gh(x) -DwE

The previous example showed that the limit of A(x) as the variable approached —2 did not exist. On the other
hand, the function appears to have well defined limiting behavior on either side of # = —2. This brings us to

the following notions:

| One-sided limits: ‘ A one-sided limit expresses what happens to the values of an expression as the variable

in the expression gets closer and closer to some particular value ¢ from either the left on the number line (that
is, through values less than ¢) or from the right on the number line (that is, through values greater than c).

The notation is:

lim f(x)

Tr—Cc™

limit from the left of ¢

L HL

lim f(z)

z—ct

limit from the right of ¢

RHC

ligl f(x) existsif and only if both  lim f(x) and lim+ f(z) exist and have the same value.
xr—c r—c— r—cC
: i - |
. . | 5 M _G(x)= = tm
l‘W\+ [X): ||m.; T = LL() = i—'_:& Mee X | j ) ; X—”‘ﬁKX)
><w|5 X+ xTel 17 =3 the |
- e lim arv-a; hooever,
xample 6:| 5y ] | m_alx) = m dx 44 4, x|
><—°| Xl X2 124 =2 Mo te /ﬁ(t}:} }2& as nition
The graph of the function y Lo o7
4 T x : :
T el o) Bl e
gla) = q 22 +1 ol
3, if :L' — 1. .................... [ R o " R R
0.8 1'9512195 .................... B
is shown to the right. 0.9 |1.9889503 Do
0.999 | 1.999999 1
C T
Gompute Tia g(a). Loot | Losoage i Lo
r—1 1.1 1.9909502 ceecieeeese Y
1.2 119672131 i i in Lo
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> ‘ The problem of division by zero and a finite nonzero numerator:| When this happens, it is stan-

dard to say that the expression “is getting arbitrarily large (in the positive or negative direction)” or is “going
to (positive or negative) infinity,” denoted by +oco. As infinity is not really a number, the expression is not
really getting close to any particular real number. Thus, technically speaking, the limit does not exist. In the

web homework system, “infinite limits” should be entered as “DNE”.

GraF\n {Cﬂfb

. 5
Analyze  lm == /Uumerl‘mlo_\
Grqp\h-'cc«ui ( \ 7[ < COY'\C'LASIOH. /\Joée os X—» |
[1&1 o X | 7(x)= (x-D* 7Crom Lhe Y{jhf and 7[\ran’\
\ \Udi 0.9 S oo “he IP_)[{— one. sees “hat
s v]0.499 -
\ e 9 |Y. S0,000
il = o0-
@———/ ) - 9.999| $, 000,000 JKX)_B Ilf\ere%;re
E@r\‘ ] luc‘)ﬁo BRETTEEEE ]m <
E \/C"T‘é«(:[ ’:lCJ:’:jj |'O| : S/?OO/OOO >I<_pl (K_‘)D\=CU
Ajﬂm?%o{c §?F - S 0,000
at x=| T L S 00
. 2 ,
Analyze  lim - Mumericalln ) lasion Note as  x—( fiom
GYQ hi call ( % \ i ¢he lejcé one seces € hat
P ‘3 @ _ﬁ\7[(><)i X~ (x)—» —00 5 &hat is,
~ 0.9 -0
g3 -qciq -200 X1 X-|
T a. -
- 9 ‘ QOOC) and as x —» | From Ehe vight
1 ceitica Ohe Seecs < hat 7f .
o l-00 (x)— QO
| Asim‘?ﬁdéﬁ NI~ I I o000 ﬁ[ﬂaf‘ 55) °
yl G k=) 56?* -0l Qo0 L .
S o ‘m =
[ | .| s |7 x| " <O
9 T‘r\erejcare) lim == =DAE since
Analyze the limit  lim — oL e
250 \/T “he LHL+RHL.

/\ju‘mer\t%

\ 2 on (0,m) sSo £he
X 7[(><}': \/? l 2 ][m 2
( 9-1 | &.33455. koo U Mans T O
.0
| ?),olol G,B-iiﬁ‘j As x+20 Jomhe right
0.000\| 200 | One Sees Chet fg woo .
‘ ) Thera][;rc_.)
\evdical
- Ajngfofﬁ l‘~W\_'_ =< -
Gt x=0 X0 \/x

Conclusion: Aote 7[{5 deJTinec)

Be sure to graph the functions in each of the last three examples, and notice the graphs have vertical asymptotes

at =1, x =1, and = = 0, respectively.
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0 .
The case —: The most interesting and important situation with limits is when a substitution yields

v

o) e}

. This is precisely the situation we are confronted with when attempting to compute derivatives from the

0
definition. The result 0 yields absolutely no information about the limit. It does not even tell us that the limit

does not exist. The only thing it tells us is that we have to do more work to determine the limit.

4
Example 10:| Find the limit lim ) Gm? h
z—0 X
Note T4 S x40

W‘Ere/;rej >I<;:\o ‘L_X: \;Y_Y,lo =49 ‘

2 -2
Example 11:| Find the limit lim (— + be >
z—0 \ T

Note & . Sx-2 _ 2 t5x-2 <
XY e = %zﬁ_ 7[; x40
H] ' L <Sx-2 : _ -
ere/Z;re % = > X =< _ Limu _
) oxeo X7 x X-&’Oé =5

Example 12:

Find the limit lim
r—3 r—3

/Uofe_ X;—OZX—3=XQ-SX+IX*3= X(X_':z’jﬁ(xx #3> =(XH) (XMS)

X7 2k -3 _
So S —Tr2 - (\XH)M= X+ | far X#+3

X=3 X3
, a

Thm][“@) W XT2<73 b xy = 3+ =|‘% i
X23 X -3 X3 — 3

Find the it Jim =39,
Aote s (h-31-9 = (h-3)(h-3) -4 h2-3n-30+9 -9 = k2= Gk

2
So (Mj _ h*-Gh W (n-¢)
N B h-6 7/;r h#0
=2
[ime _(h‘__j)i Lo _ _
-ﬁ]ﬁr&/@re} l’\—yO lf\_ = 11\_&0 \(’\-G—O’G_/—G
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Conclusion for X2 | 3x-G|= = (3x-¢)
Bampie 18] Findthefwits_Fom [T sl e
. |3z —06] . |3z —6] . |3z —6|
lim lim lim .
=2t T —2 z—2- T —2 =2 T —2
Observation =« Thus, lim  13x-C| _lim , 3%6 _tm , 36<2] |in =
3 =G X2t X-& = x-»Z X -2 XX X=Z  x-»21
x =2 cnd [V [3x-Cl _ L -(3x-¢) _\; ‘M_lim -3 -3
Fror‘(\@f\e raphone Sees - X7l b 227 ) = iV\- S T
Fraj X2 x-2 -2 X -2 X2 X2
Dx-¢ <o ijf X <ol —ﬂ’l L ISX—CI
and 3x-¢ so if xoa Megore, b I3 L DUE sinee LHLFRHL
p(x)

> ‘ Limits at infinity: ‘ A function f(x) is said to be a rational function if it is of the type where

)

p(z) and ¢(z) are both polynomials in x. Sometimes we are interested in determining the behavior of a rational

function for large (positive or negative) values of the variable. This will be the case, for example, in Chapter 9.

There is a general principle that makes computing these limits easy. The idea is that, for very large (positive
or negative) values of z, the term with the highest power of x has the most influence on the behavior of the

polynomial. In other words, when x is very large, the term with the highest power dominates the other terms.

p(x) highest order term of p(z)

lim
z—too g(x)

Let d b 1 ials. Th .
et p(z) and g(w) be polynomials o z—+oo highest order term of g(x)

Example 15:

4z . .
Let p(z) = PR Find the limits
4z 4z
z—1>r-ir-loo 2+ 1 93—1>IEIOO 2+ 1 -
e A OO0 V00 HOOF D037/ NOOE TS VOO SO SO0
X-sa0 X7 | X XE oy 00 X
lim 49X _ lim 4dx _lim ﬁ:O
X#-0 XZF4l  X# 0@ XE Xe- X
2z +1)?
Example 16:| Find the limit lim &
z—o0 5x? 4+ 2x + 1

/Uo{ei (rQK*I' ])R: (QX)J\"' lower ferms

‘1><‘2+ |ower£ern/u

T/here][ore_ liw. /&7»<+I);\ : xR
xow oa = I B loveberms e P 9 _[9
Sxetl  XKPD Sx?4|owel Lerms  xrm SAR Xow 5 5

2 6
lim Bz +2)*(5bx + 1)v4ab + 1

E le 17:
A T 10 1 3P0 T 5P

> i
Mot 35:2)7 (5% 1))/ ‘bﬁl; (%)% 5 Vx4 Lo ems - D Sk Hlowe Lerms -
(X 41) (232 xes) = x . (2 (4)

rhe@[ofe

Find the limit

£
90x + lowef der s

3
A
+ower derms = x-4 644 loaer Lerms =35G8 Flower beams

[im /3x+2] (%xﬂ)\/‘!&l

C{OX(O“'IOLAQF{TE’!'MS:“M M ~lim 90 _ 90

= Im
Tlaxas) Q0 | 4s
O feal) @x e3P A5y xo Gon s dems | Xow Hor 6 xow J5g © Jsc _/u—a
26
University Of Kentucky > Elementary Calculus and its 6/10 Chapter3.pdf (6/10)

Applications



» | Continuity and differentiability:

We first give a brief, non-rigorous and intuitive explanation of two fundamental notions in Calculus whose

definitions involve limits. We then discuss how these two notions relate to each other.

‘Deﬁnition of continuity:| A function f is continuous at a point z = c if

lim f(z) = /().

Tr—cC

A function f is continuous on an interval if it is continuous at every point of that interval.

Geometrically, this means that the graph of f has no holes, jumps, or gaps at any point in the
domain of f. Thus you can draw the graph of f from one end of the interval to the other without lifting your
pencil off the paper.

Analytically, this means the value of the function at 2 = ¢ can be recovered if one knows the values of f(z) for

near x = c¢. In other words, the values of a continuous function cannot change abruptly.

If f and g are continuous functions at c then

ITef(x), flx)+g(x), f(x) -g(z) and %, where g(¢) # 0, are continuous at c.

constant
Many of the standard algebraic functions are continuous.
e Polynomials are continuous at every point.

e Rational functions are continuous at every point in their domain. (i.e., rational functions are continuous

away from zeros of their denominators)

2

_3, if ¢ < 1;
Example 18:| Consider the function flz)= X l v=
2x + B, ifx>1

Graph the function f when B =4 and B = —1.
][;r (x) Zo bg continous Q{ X=1
Find a value of B such that the function is continuous at z = 1.

he :
C éB L* =2 N = — dnhe /UG@&S {O feoVe é JU\W\P
aSe| CGS\QB ' OL'é )(.:l- Bfﬁ fht 367[‘\'\, \UY\ C7C

f -3 7[ < 7f ~ )<°2—3 i;fxil coatinuita at apeint one most
Gl Q{?m of x> M"Z;x—l x> = F
V\QUGJ

6’ 6; Li/\[ ZF(K):;}{},
Bfﬁ ¢he C)ﬁ]f(mémr\ O][7[/Ohe kmow\g
J)=*-3=1-3= -3
So one ANeeds [RWL ;(x): 9. jr\

(

PQV{*CL«‘CAU wWe /L)eea lm

)f/x) ==

/\)Oé@ im ( X2 [1‘
_[_9\ ) . +f>< 4\* o?xﬂf) 97(0*5 07\#3
(Oﬂ@ucné &) 4R -
o7 118 =2= 2 *02
D=1
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Example 19:| Let f(z) = [[z]] be the function that associates to any value of x the greatest integer less than

p Yy g /% g
or equal to . Compute the [[0.5]], [[1.99]], [[2]], [[2.01]}, [[4.87]], [—1.5]}. This 75 @lse referred o as
Make a graph of the function y = [[z]]. Compute hrgl [z} and  lim [[z]. 2} o ﬂmr Junction Jenoted)

z—2+
Yy [O SJ @) Fron./\ fheﬂr‘?\P"\ Ohe sees €hat: LXJ

e e 1o RTINS I.

. " ‘;& MHZ

. L e 5 B her e, .W\

- A [\Qﬂ R e I [ - Dy
RREEERE e 4. ._o ...... RREEERE :

-  aa]ra e [2e2 one e

— ’

- N b, [xD # L] This says
B TS U SR H%.%Jﬂ, g that fry= [x] is ot continmoos ot

X=2 A Similar araument shaws

@@ [\[-TQU — “hat 7F/><)=[><I| is  discontinwsc s

ot EVera intcae( Va lue
Look back at example 18 in Chapter 1 for more information about the greatest integer function.

Definition of differentiability: ‘ Differentiability is concerned with whether the graph of the function can

be well approximated by a straight line. Geometrically, we say that y = f(z) is differentiable at = = ¢ provided
that the graph of y = f(z) is (nearly) indistinguishable from the graph of a straight line, provided we restrict
attention to x values that are sufficiently close to x = c.

More precisely, we say that f is differentiable at x = c if the limit

1)t LT 1) = 1O

h—0 h

exists. In other words, a function is differentiable at x = c¢ if the derivative exists at x = c.

Geometrically, f is differentiable at z if there is a well defined tangent line to y = f(x) at the point (z, f(z)) (so
the graph is smooth there, and does not have a sharp point), and furthermore the tangent line is not vertical.

Analytically, a function is differentiable if the function does not abruptly change direction.

Many of the standard algebraic functions are differentiable.

e Polynomials are differentiable at every point.
e Rational functions are differentiable at every point in their domain. (i.e., rational functions are differentiable

away from zeros of their denominators)

The next few examples illustrate how continuity and differentiability are related.
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Consider the function f(z) = y/z. What can you say about the tangent line to the graph of
-1
f at the point z = 07 /A
o - ‘/ ir
%ﬂ’/o] _ bim Florn) —}o) _ e Vot —Vo | im VIC i T i
h->0 he h-0 N h-o o n-»o n - hoo I
_lim l e — = lim 1
= = — =
hoo WY ™ hwa Vo oot \o
Consider the function f(z) = |z|. What can you say about the tangent line to the graph of
f at the point z = 0?7 | | \
/ : } o Lothl =lol _ 1 h
= \IM ;(0*'1'\\— (") - l\VV\ - = ALLAN —_
7f(0\ h—=o I~ h->0 n h—»o l,\ ﬁ}_ D/\JE
e e Ry :
Wote lIW\{. - ‘,\lqw} ?\L\Vg\n-&l: | Since LHL#RHL 7[ /
o (x)=Ix| does not h
5& Lgorkéﬂ aue.
. \ N éLg [ a écmjehf e at
cnd lim M;\«\W\ —h lim 3756. o
h-0" W o W oy 177! -
If f is differentiable at = ¢, then f is also continuous at x = c.
Equivalently, if f is not continuous at z = ¢, then f is not differentiable at x = c.
If f is not differentiable at = = ¢, then f may or may not be continuous at = = c.
(a) f(x) = |z| is not differentiable at « = 0, but it is continuous at z = 0.
1
(b) f(x) = — is not differentiable at z = 0 and it is not continuous at z = 0.
T
Look at the graph of the Dow Jones Industrial Average for a real life example of a function that is continuous
everywhere but which has many points of non-differentiability.
Example 22:| Let
z2, if z <2
flz) = .
mx + b, if ¢ > 2.
Find the values of m and b that make f differentiable at =z = 2.
- Sefinidione /7 ¢ exist
_L;[]fi_s differendiable at x=2 <he E/g @['m 190 (&) mas€ exi
srenee e e RS To o s
l—/oweue{) f(o?) _ k\l\b 7[/‘2#-:13 2) _ ‘l'\li\a + . In order Sor &his [yii€
<o exist one musé have LHU=TRHL.
Note LHL=lim (a4 1o dtdheh>
3 -1 _lim hth>9 _ m v, )
l"\-'?O 2t h-o N —hrd%}‘):l\‘;"\Oqu.h: L|+O=L‘
0 RHL= G - :
nd KF R fﬁz”ﬁ\) - g ‘Qm*hm‘:b -9 . lim (hm)+ (om «b-4)
h=0 N
o we wNeed |im hM+[c2m+b—L|] . g reed Pmib-49=0
heot N - and &, I_m ,
K4 +b-gqy=0o
? tb-4 =0
29 4+ b =0
|_b=-"
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